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Instructions for Candidates

1.  Write your Roll No. on “thc top'vi'mmcdiatcly on receipt
of this question paper. '

2. The question paper is divided into two sections:

Section A and Section’ B

3. Answer afly three questions from Secetion A and
' any two questions from Section B, |

4. Use of simple calculator is permitted.

5., Answers may, be written either in English or Hindi;
but the same medium should be used throughout the
paper. '
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SECTION-A
L @S -3
1. (a) Let uﬁlity function ‘of a consumer be givén by

U(x,y) = xy + x, ‘where X and Y are the two

goods-
- (i) Is marginal rate of substitution diminishing?

(ll) Are marginal utilities of both goods X and
Y dlmlnlshmg?
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(b) Let Mr. Ramesh have an income of T1000, which

he can spend on two goods X and Y. Let price of
good X be T80 for the first two units and then it
is T60 for the subsequent units. Let price of
good Y be ¥I50 regardless of how many units
bought. Write the equation of the budget line and

draw 1it. -

- (c) Find the equation of the price offer curve and
demand curve for the following .ﬁtility function :
U = min(3x, 2y_); Let inéolme of the consumer be
M, price of good X i:s‘ P, and price of good Y be

P Also draw both the curves.

(d) Draw indiff;:ie;ice maps for the following utility

functions. Also indicate.the-prefer‘enc»e direction
(@) Uz, y) = %

(i) U(x,y) = X~y | - (5x4)

() W A R STdE o IR we UK.Y) =

xy+xmﬂﬁmm%,'\ﬂﬁx IR Y @ a5T.

P.T.O.
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2 (a) Using a diagram illustrate how a flat tax on income
would make the consumer bettcr off as well as
bring more revenue.for the government compared

“ to a two-bracket progressive income tax, (6)

(b) Let Miss Mary earn an income of 32000 this month
and 32200 néxt month. Her uﬁlity function is
U(C,.C,). = C,C,, where C, denotes the value of
~consumption this inonth'and C denotés the value
of consumptlon next month. Let 1nterest rate be
5%. Would Miss Mary borrow lend or do neither?
What happens if "interest rate rises to .12%? In
which case is the utility'higher? ‘ (10)

(¢) Will an increase in overtime 'Wagé-rate necessarily
lead to an increase in Ia‘pof supply? Show using a

diagram. . ’ (4)

(ﬁ)vwaﬁammaﬂ%wmﬁ?mww
ﬁzmmﬁwﬁmwﬁ%m-mﬁ-m

mmﬁmﬁm%ﬁQMW
o

P.T.O..
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3. (a) Suppose a consumer consume two goods X and.

Y. The utility function is ¢
Ux,y) = 24/x +y. Let price of X be %0.50, price

of Y be Z1 and income is ¥10.

: ‘ ier.
(i) Find initial equilibrium of the consume

- : . vado 7 fs lls
(ii) Find the new equilibrium if price of X fa

" to Z0.20.
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(iii) Using Hicksian technique decompose the
price effect into substitution and income

effects.

(iv) Calculate the compensating variation in the

above case. (8)
(b) Let two utility functions be given as

U(x, ¥) = Xy
Uxy) =ev+5

Do. they 'represénf same preferences? (6)

(c) Using a dlagram ‘show the Kaldor’s, variant of

decomposition of prlce effect 1f price of x falls

and x is a normal good. %) (6)

(=) mﬁf?ﬂrzf&?@m?fa@sﬁxlaﬁt Y @
Wm%:a@fﬂmww%:

Utcy) = 25 +y. T A B X w1 a5 050 2,
Y = 1 % 3R @ 10 B

(1) mmmwmﬁml

P.T.O.
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‘4, Let utility function be U(x) = x2, where x denotes

- income level, The consumer faces the following
scenario: he can earn Y100 with a probability of 0.4
and ¥600 with a probability of 0.2

‘(i) Using only the utility function show that the
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(i)

(iii)

(iv)

(v)

(vi)

9

preferences show he in 4 risk lover,

Caleulate expected utility and utility equivalent

of the income, Do they confirm he is a risk
lover?

Calculate Certainty cquivalent of his income.

Give the equation showing the risk premium of
the consumer, - ’ '

Represent Risk Premium and Certainty

Equivalent for a risk loving consumer in a
diagram,

Calculate Arrow-Pratt Coefficient of Absolute
Risk Aversion and interpret it.  (3.5%5+2.5)

mW%m&rﬁmmU(xrﬂ% TE x AT T
ﬁnﬁmiumﬁmﬁmﬁmmmmmi

9% 0.4 #Y AYEAl 4 W9 100 w9 addl 8, AR 0.2 @t
m%mboo

() mmwmmaﬁwmﬁﬁf

mﬂﬁmq‘ﬁmrﬁﬂﬁiwwﬁﬁaﬂwm

P.T.O.
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(iii) Mmmr%awﬁﬁﬂaara‘ﬁmaﬁml
(iv) mﬁw%@ﬁqﬂmﬁmaﬁmﬁ%mmwl

(v) wmﬁ@mﬁwﬁw%mﬁrﬁaﬂﬁﬁm
aﬁtﬁﬁawmmwﬁﬁmamm |

(vi) ﬁ@mﬁaaw%ﬁt ﬁzwa‘frmﬁm
ﬁtgﬁmml

~ SECTION = B
| wE -

5. (a) For a multiple output producing firm, the inverse.
production function, with one input x and two

" outputs y, and y,, is given as !
X = Y12 Ul P A 2%

(1) G1ven two vectors of output (2.4) and (4,2),
" ‘prove that the inverse productmn function

-is strictly convex.
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(i) Check the monotonicity of the inverse

production function,

(ili) Suppose the firm now decides to produce
only one output such that the inverse
production function takes the form: = y?,
assuming x> 1. Find the firm’s input
demand function when unit price of the

output\ is p= F5. B T - (3,2,6)

(b) Using an example explaln if it is possible for a
“production : function to exhibit diminishing rate of

substitution and decreasmg returns to scale at the

same time. o SRR (4)
(%) e i see e W B R, T

xaﬁzé’rmtgfylaﬂtyza‘wwagwwm
sﬂwﬁmm% |

* st B x =y Y Yy
| ) amngaeaétaﬁm (24) i (42) RT @
W ir 3o %l

|

P.T.O.
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6. (a) The production function of a firm producing mobile
. phone' covers is given as: '

q= (kus. + J13)3

Here k is the amount of capital employed and / is -
the amount of labor hours employed and q is total
~output. The wage rate is w = 1 per hour and

‘rental cost of capital is v = ¥4 per unit.

(i) Does this 'p'r‘ociauction function exhibit IRS,
CRS or DRS? |



507 13

- (1) Derive the conditional factor demands and

use them to find the long-run cost function
| for this firm,

(iii) Derive and draw the ﬁrm s long run supply
curve ' |

-(iv) Suppose the firm is creating noise pollution.
If the goVernment is deciding whether to
1mpose a lumpsum tax of X T on the firm

or to impose a fine, T t per unit of output,
which will have more 1mpact on the output

"0fthef1rm‘7" "l | (1,4,3,2)

> A(b_)- What is the-_differencg b_etween'inpu‘t demand-and
condi.ti,onalt input demand? E;_c'p'lqiwp using graphs.

(5)

q =(1;1/3 .+ 11/’3)3(
_ﬁ'kﬁﬁmqﬁﬂw%aﬂf‘lmﬁﬁmﬁ

aﬁwgaﬂ;qmaﬂm%lﬁ@ﬂw”ﬂ

§ﬂ€%1
| P.T.O.

-~



507 14

(i) T UE IR WA aiswea, fIwes @
‘ﬁmmﬁhmﬁ?

(ii) S HRE AW W W HY AR S
ﬁ?ﬁﬁaﬂf?ﬁmtﬁm@aﬁ%mm
,mﬁm

(i) wF = S AN 9% B W S 3]
(iv) m@m%ﬁ%ﬁsﬁﬁwﬂam‘é*
%laﬁmmmmﬁ%%sﬁqﬁr
MWW?\TWW@WW
e AR TS W T o, R
WWWMWQ%W?

(@) T AT AR EOE TG AT D AT FeR T 87
- @E S WA e T Sl

7. (a) Consider a profit-maximizing firm with the

production function given as:

q= kud,us
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The f'\CtOl prices of laboy () and capit

al (k) are
W, —\160 and Wy

= X200 respectively, Assume
that amount of capital is fixed at 1 unit in the
short run.

(1) Derive the short-run cost function,
.(1i) Find the'short-run supply curve of the firm.

~ (111) What will be the loss of the f1rm if it

- decides to dlscontmue product10n‘7

(iv) If both the 1nputs become variable, then
using a graph show the long run supply of
_this firm. Also shade the profit of the firm
at a partiAcula.r'per unit output price P*.

(2,5,1,4)

(b) “The long-run cost curve is the enveiope of all the

short-run curves”. Explain this statement with the

help of a graph. - P ' (3)

a - (ﬁ) fog 17 JeAET A @ WY T R AR FA A
T W AR AR

q = k1413

P.T.O.
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